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Answer Sheet No. Model Paper PHYSICS (OBJECTIVE)
PART =11  (Session 2012-14)
(INTERMEDIATE)

Roll No.

Sign. Dy. Supdnt, Fictitinns Roll No. (For Office Use) Sign, Candidate

Marks :17 Time  : 20 Minutes

Note:-  Write your Roll No. in space provided. Over writing, cutting, using of lead pencil
will result in loss of marks. All questions are to be attempted.

1- Each question has four possible answers, Tick (Y ) the correct answer. (17)
?' QUESTIONS () {B) {C) )]
1 When some dielectric i inseried betwesn the Chxigy I
plates of a capacitor, then et
2 A-charge of | e experionces o force of 10° N at mnt
a poilnt then the aleciric infensiny al that point B NC
3 Temperature coefficlent of reslstivity of 3 oK
rarterial i measured in E
Thie galvanometer in which the cotl comes to rest Sak
4 | quickly afterthe current passed through it, s 2
called a5 Calvanoicier
In CROY, the number of elecirons ks contrafled by
2 sl Anodes
g | A trandurer sieps 220 V o 40 V. I seconidary
tuerss are 40 fhen pritnary bams are
7 | In RLC Sedes cincuit, a1 low Srequency KoeXo Moz X Ke=X_ | Nooeof thess
g | The electric or magnetic feld does not radiate o M""'h“ﬁ""'"‘ Buberof | qocon
space whenever a charge is - bl these
¥
g Is permanently
magnetized
10 resistance of
coll
11 Mone of hese
All the Inpats | All the inputs | At feast ane
12 | Thie ootput of NAND gate Is zero when Aenigio T At S5t 1 Nooe of these
The mass of an object becomes double when it 26 x 10" 1L6x 107 Fx 107
13 e . 36 2 107 misec
Which of these is the ratio of ILE. to P.E of
14 | the electron in any Behr arbit of hydrogen 2 Wy iy -2
atom?
15 | Laser is a buam of Hyht' whicki s Monochromat | Copesent | UMMUSS0 | A of fhese
Greater
Equal to o Ecpual wy Less thani o
16 | The tond=dng power of | particle is 1 el ﬂﬂn::l; particli
E E
17 | A paic of quark. and anti quark make 8 Meson Hardom Lepton Baryon
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Model Paper Physics Subjective
Intarmediate Part - Il (12™ Class) Examination Session 2012-2014 and cnward
Tatal marks: 83 Time: 3:10 hours

SECTION -—1
2. Write answers of any EIGHT questions, {8 x 2= 16}

Flectric lines of force never cooss each other, Wihy?
What is Coulomb's force between two poinl charges if the distance between them is doubled?
What happens when mass of charges is made 4 times?
Differentiate berween electric potential and electrical potentlal difference.
What Is polarization and how dipoles are formed in dielecric?
What is function of & grid In CRO?
Whai is a stable or dead beat galvanometer?
What is back emfeffect in D.C. motors?
Describe the change Ln the magnetic field inside a solenoid carrying a steady current I I
{a} Length of solenaid is doubled but the number of mms remalns the same.
(b} The number of tums Is doubiled bt the length remains same.
How can you use a magnetic feld t separate isolopes of 3 chemical el
How would you pasition a flat loop of wire in & changing magnetic fisld so diat there is no emf
Induted in the lpop?
Describe working principle of an AC. penerator.
How the power losses can be mintmized b 2 ransformaes?

3 Write answers of any EIGHT questions. Bx2

=
A potential difTerence is applied across the ends of a copper wire 1= the effect on drift
welocity of fres electrons by
{i} Increasing the podential differance. TS
{} Decreasing the length and temperature wire,
Why terminal potential difference of 3 when the current drawn from it
increases.
Why we prefer Polentiomeder in p Voltmeter for measuring potential differsnce?
How does deubling the frequency afli reactande af
{a) An indueror,
{6} A capacitor.
How the radio waves are received?
Write four imponant propesties resonance clroult
What are the responsitde factars for production of magnetic field Lo an atom?
Why the charpe ca 1ol present bn depletion reglon?
e s i extrinsic semiconducrors. How would yoo obtain N rype and

i e mtﬁdﬂl’?&}lﬁu
bgveen nvening and non inverting amplifies?
nic~ndocior decreases with rise In lemperalure?

4, Write answees of any SIX questions. Bx2=12)

What advantages an electron microscope has over en optieal microscope?

Far what angle Compion shift Is minlmun 7

Why we do not notice the de Broglie wavelength for a pltched cricket ball? Explain.
What are advantages of lasers over ordinary light?

Why the X rays can not be produced from Ughter atoms?

A particle which produces maore lonization Is less penetrating. Why?

\W'hat is the difference between an electron and a f parlicle?

What 15 difTerence between radiation counter and detecior?

\What are the main uses of nuclear reaciors?
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SECTION 11 (Fusay Type)

Note:-  Attempt any three questions. (Bx3=24)

)
(1)

(a)
(b

(o}

(ts)

{a}
{b)

What is capachior? Derive a relatos for cpaciance of a parallel plate espacitor In presence of
vacusmi and dielectric between the plates of capacitor.

The polential difference between the terminals of a battery in open circuit is 2.2 V. When it is
connected across a resistance of 5.0 (U, the potential falls 1o 1.8 V, Calculste the current and
the internal resisimnce of batery,

Describe principle, construction and working of an alternaling current genesator in detall,
How fasi must 2 proton move in a magnetic fleld of 2.50 x 10 T such that the magnetic force
is equal 1o its weight,

Explain the main features of energy band theory. How it can be used to explain the elecirical
behavior of insulzers, conductors and semi conduciars,

Find the value of current flowing through a capaciiance of (L5uF when connected 1o 2 source
of |50V at 50Hz,

Wihat is photo electric effect? How Einsteln explalued the various electric
efTeci?

In 3 certain circult the transistor has a collector current of 10 af 40 pA.
What & cumrent gain of ransisior?

Explain Fission reactlon in detail.
The wavelength of X ray from copper is 1.377 x 10""m. What is the energy difTerence
between two levels from which thls transition resylis? ®

SECTIO)! Ieal

[a] Glve answers to any Four Questi 4x2=8

1]
{ii)
(1)
{iv}
(v}
{v1)

{vti)
i)

i)

Huw we can test the cormeciaess of s of stide wire Bridge?

How a galvanometer can be lo an ammeter?

The mupnetic noedle in the needle should be small or large. Justify your answer,
Why the soft iron between magnetic poles of a moving coll galvanometer?
How NAND pa Show lis truth @ble.

varies when the distance of source of light varies from

aluses of a Porentiometer?
ot conduct when it is reverse biased?

4own briel procedure 1o determine the resistance of galvanometer by half deflection

method, (31
OR

Write down the brief procedure 1o make a Fire alarm using gates.
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Answer he questions given below on the basis of following graph (4]

Find shope of graph.
Drtermine resistance of galvanometer from graph.

aR

Answer the questions given below on the basls of following graph.
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